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General Instructions to Candidates : \

e Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.

e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.

e Read the instructions carefully.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 to 9. Each carries 1 score. 9x1=9)

1. What will be the output of a differentiator when its input is a square wave ?

(a) Sine wave (b) Square wave
(¢) Triangular wave (d) Spikes
2. A multiplexer has number of outputs.
(@ 1 (b) 4
(c) 16 (d) 8

3. The bandwidth of Amplitude Modulated (AM) wave is

(@ f, (b) 2f,
c) 4f, (d) 8f,

(where f_ is the modulating signal frequency)

4. Among the following which frequencies come under the ‘HF’ range
(a) 3-30kHz (b) 3-30 MHz
(c) 3-30 GHz (d) 30-300 GHz

5. Name any light source used in optical fiber communication.
6.  The total channel bandwidth of Indian TV system is MHz.
7. Select the input device from the following :
(a) Scanner (b) Monitor
(c) Printer (d) Pendrive
8. Which of the following is the largest computer network ?
(a) LAN (b) MAN

(c) WAN (d) PAN

9. Write the full form of ‘GPS’.
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(a) 3-30kHz (b) 3-30MHz
(c) 3-30GHz (d) 30-300 GHz
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(@) LAN (b) MAN
(c) WAN (d) PAN
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Answer any 7 questions from 10 to 20. Each carries 2 scores. (7x2=14)

10. Draw the connection diagram of 7805 IC voltage regulator.

11. Draw the circuit diagram of a negative clipper.

12.  Draw the symbol and truth table of a ‘D’ flip-flop.

13. Draw the frequency spectrum of AM signal (Amplitude Modulated Signal).

14.  What do you mean by the term critical frequency in sky wave propagation ?

15. State sampling theorem in Data Communication.

16. Mention the two conditions for occurring total internal reflection.

17. Explain interlaced scanning in television system.

18. Draw the structure of bus topology in Computer Networking.

19. Distinguish between Primary and Secondary memories of a computer.

20. Explain the concept of frequency re-use in cellular communication.

Answer any 7 questions from 21 to 29. Each carries 3 scores. (7x3=21)

21. Mention the limitations of ordinary power supply.

22. Mention any three applications of multiplexers.

23.  Show how to draw an AM signal waveform from a modulating signal and a carrier
signal waveforms.

24. (a) What do you mean by quantisation in connection with the pulse code modulation ? (2)

(b) What is the purpose of quantisation ? 1)

S-2231 4



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

10 2)®@3 20 Q190 a108BSEI08 aBO@BIEe 7 af)INOIM QORI
2 capod aflw. (7x2=14)
‘7805 agyam IC ca10udege2 ©0v)eeIgdland SHemMEuas all(@o IO

830) dmwdlal Glajdlod oSS all(@o QIO
630} Wl-aflal ¢aQoafload milmu@s, S)@ ¢senilud ag)arilal Q1o .

@yogflgnaw’ ecmoaveeigw’ aflumeload (AM  aflwm@) (OlaBadl  oayo
QIOQ) .

OO calal’ (100 ]|CDHOM Mo Wlaj FIG189@3  (@BldaBay]l  agyamoseman’
aflvaBMIBN .

WoQo K1\ eMilEssau @il@d avomieflow) N0 af)aMNIG3 )T ?

¢S05®3 gNEAZAEM@3 OlaQa:8 MVoRANEMINGIM)BH O6NE AININUONRHUB aBO®EJ0 ?
oselaflaad meaflwomasileal nadcelnuiw APIaflot) a)a® af) N allUoBA0S B> ?
S50 6OMQAIBSFloUflOR! NIV ¢SO |I82W]OS PLISM QIO

S 5dloel 0e@1ad], arVeeddl aacadla:ud cadidl e allvodla:dles)d:.

oave)edd S RIMeENHMI3  Ala8adl dl-@)aV a)aNIBB  afIDEMN” ag)an’
aflvaBAIBN .

21 2)®@8 29 Ao0 ¢alo3inElad oBomBIEe 7 af)gROTIM DOMOOAN) ).
3 capod afloeo. (7x3=21)
630} TLOWOVEM alQIB TVOEIAS aITIANTIAUB )OO0 ?

ARGl IROIDBIOS aBO@EILN0 MAN DalCWINEIBUD af)$ Y.

cadaw)ceiglow)” VM@, Hodlwd MINM@ calal candmB@Elad mlan’ 80} AM
MIlVM@3 GAINIGAN0 QD) B:I6TTIE6)d:.

(@) aIBaV CHOW GAIWIGEINHAOM TVoUNWla] BlIOSMBEIVAUM  af)aNIGI
ag)am06m ? 2)
(b)  BI00OMEEIVUO G DEGUDO AT ? 1)

S-2231 5 P.T.O.



25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Write any three advantages of optical fiber communication.

(a) What are the modulation schemes used for picture and sound transmissions in
Indian TV system ? (2)

(b) Whatis the function of Video detector in television receiver ? (1)

Draw the circuit diagram of a positive clamper with all the input and output waveforms.

Give two examples each for input, output and memory devices of a computer.

Mention any three advantages of Computer Networking.

Answer any 4 questions from 30 to 34. Each carries 4 scores. (4 x4=16)

Draw the circuit diagram of a Zener diode voltage regulator and explain how it
regulates the output voltage when the input voltage varies.

Draw the circuit diagram, ideal frequency response and practical frequency response of
a low pass filter.

In AM (Amplide Modulation) the carrier frequency is 100 kHz and the message
frequency is 10 kHz. Draw the frequency spectrum of AM-signal and find its
bandwidth.

(a) Compare the scanning processes in normal scanning and interlaced scanning. 3)
(b) What is the advantage of interlaced scanning over normal scanning ? 1)
(a) What do you mean by dispersion in optical fiber cables ? 2)

(b) Inter-symbol interference is a negative result of dispersion. With necessary
diagram explain what do you mean by inter-symbol interference ? 2)
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